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1. If y = Az + B is an equation of the tangent line to the graph of f(z) = 1+xzcosz
at the point (0,1), then AB =

~ ¥2
€33
9. (correct)
(b) -1 -?'(X) = o 4 W [=ox)+ Cask -
(C) 0 g\fPe 3 S/(o) £ g4 +‘ = \
(d) 2 b
) 1 €q :)—\:\(x o)
e —
2 L oc+)
g 9 Q2 =\ = A3 =1
A=Y
4 4
g 2. The slope of the tangent line to the graph of f(z) = = _T_ 5 at the point (2, -5-) is
qﬂ equal to
§3‘3
2
(a) 25 (correct)
%45 5;{ (ot+€) Y = 4x %)
o e (x*+6)"
1 *
(C) BE 2\,‘ 2 Li’)L
et = _.——-—*———_E—
(d) 0 (gc_?'+(:>)
(G)i e T

/
25 Sl‘;’P’C - g (Q-) = = L‘O)z IOQ Zg-—
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2 dy
3. By==z \/4—3:2,thend—:
~vHLG z
$3.Y
8z —3
(a') > . =Ya fcorrect)
\/4—1172 2
; & ot L (uad) 29+ {ad
(b) 82+x2 JIx ’ :
% k= ) 2%
(C) 2.’17—'233 e, (L\_x) X % (q
V4_$2 3 <
() 4z + 323 -2¢C + ¥3¢ =2
d — -—————t—’——\—’_—‘
4—z? (4-3) 5
— A
© V4 — 2? To =32
N s o S
Y -2t
2
d
ég,( 4. If 2> + y?> — 3 Iny = 10, then, by implicit differentiation, d_ay: =
2zy
(a) (correct)
3 —2 2 __\_ = I_
2:1:yy 20¢ + 29" S'D‘n'o
() 3—2 i
2y S 3'3“““_’)““2’('
m -—
s 2
(c) 3_y2 ; e
oF e e e
2y
(e) 3.7:y Qj <3 e e
2-3y =) 1
, -2y
=) 3 - ‘2\37'-3
5o
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5. Using Newton’s Method to approximate the zero of the function
12 f(z) = z — 2/ + 1, starting with z; = 3, we get z, =

§3.8

—
o]

5 T (correct)
(b) 4 5 X, - ’“',_"J : ‘?(3):3—'2. \l3+\ - 35-2-2 :\3-‘-]::-'
7 23 5'(79) ’ ‘
e s
(c) g 3 003) )= i :
@3 P e f TR o =
3 56 ey e b G z
(e) 2 oy
R j0r s
2z
= 5+7-—
2
f\;ﬁlQ/a(gq

§ 3\ ‘1 6. Let f be a differentiable function and

o(@) = f(&* — 3sin(ra)), (1) =3, f(1) = 3.
Then ¢'(1) =

(a) %+l = : (correct)
(b) 37 +3 q' M - 5! (%33 sanlw) . 3% =3 Co(Tix] T

((E;;F—Bﬂ 3‘(:) - :gf(‘ <o - 19 +3T3
(et SR (B t3W)
(357)
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7. If m and M are respectively the absolute minimum and absolute maximum values

A of the function f(z) :$3—%$2+1 on the interval [—1,2], then m + M =
e LR - 3 -3% |
3 = 3% (x-1) =0 =3y x=o0, | €%
(a) § (correct)
(b) =1 . R)= 0 -6 +) =)
A
SRR e
2
(d)-27- -F(-‘) = -1 —%-H‘L—-i — M
(e) 0 P(z) =&~ 6 41 =73 - H
3 Shcigl T
Mz =2 $3E—== g
NE)‘G&?\Q’)
533

8. Air is being pumped into a spherical balloon at a rate of 327 cm3 /min. When the

volume of the balloon is TF em?®, the radius of the balloon is changing at a rate of

(Hint: The volume of the sphere is V = g-m"g)

32h
_‘%_Y-: 32TV ) %—::? kihen v:'—3—-
t
i g (correct)
(@) 2 em/mi = ; s
(b) 4 cm/min dV _yg ¢ 97 o e i
3 zqw (Q'] —
s mf 32w 3 (‘f P e
3 .
()5 oy aie T~ en

z 2. cmlﬂ'\w\
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~ 4473/ fo

’ W 2
§3S 9. Ify=(1+x2)cosx, then_yy'_z ﬂvﬁj 2 oSk ‘/ﬁ\(lﬂ)

2zcosz —sinz - (1 + z2) In(1 + z?)
(a,) 1+ 22 (correct)

Bt $ = X 2 _S'rnr)
(b) 2z cosz — sinz - In(1 + z?) -3 Y = 5% — = ¢ fnuext) (
i v (4%
s dns ) :ﬁ,@;ﬂ_i/’ﬁ»
k)_T:;T“ i e 142
() rcosz + (1+z?%) sinz
1+ 2?2
2z sinx
&) ~ =

~ ¥ ¥

§33 10.1f (A, B) and (C, D) are the points on the graph of the function f(z) = = +i at

which the tangent lines are perpendicular to the line 2z—y = 1, then A+B+C+D =

Lot =% =X = 9= - 220 —|{ : ‘
Y i Slepe A A\ yeumye-d hids < X=W WX B
¥ "—“’\v\.d v —%’ .
(a) ; (correct)
(b) —1 = ’S’I(") ;i _;\.
(c) O “__(’)L-l).l_(')(ﬂ)“ e T _7_12 :-%
(d) 3 = (,x_‘)l z (-::: "-—1
= = o S T -\ =
(e) : = (I—') o8 s :: 3 o= -\
— . 8
30 . . .2
. f@3)- e h
T e
£(-\‘ Z _.:.t\ %
g & a

Se p4B+CED = i

-
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11. If f(z) = elm then f©9)(0) =

~H 130
$3a
(a‘) =1 (correct)
s
(b) 1 ‘?l?(): e
(© = v 5
e S 0) =~ €
(d) e e
1 oy <&l =
(e) _g e 3 A
X ) = {=0 &
: (55) g
?(ﬂl)x) (-.) e =n4 (8EY "3
= L300
e
NTF79
§3'5 2 3 dy
12 Ifyzgz—*_'gg—g%,then the value ofaat:c—l is equal to
(3)5—29' (correct)
by 49 Joy = fon 0542) +£nwf%+3) - Lo (x-2) —/Q"U( 3
() 2 BE. 3 i, _?__x__—_— = —Zﬁ‘
(c) i ""3 t Tz oewd a5t s
147 9 (147 (\*3) B T R
(d) 5 xS AT T Y ()
29
(e)E"" o LT e __-;;_—
I z e =
TG = i 3 T 4+ 424418
& % _f-%-q + * +1—2—.’ 2 i
0 5_-,3___ =
= T2
p 53
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13. If f(z) = z/z — 3, then (f~1)(4) =
(Hint: What is the value of f(4)?)

lic )
#R‘ s R o /T PR e S QT e Y
Eyi-to -1
p.202 1 == F19) a i
(a‘) g r ! (correct)
1 )y = —— |
®) 7 £ §'(fw)
1
c —
()2 3 \ el fffx)ZI ' 12> |
(d) 1 o l(q) { 'l'JI:a
OF : P b
o~ u %
5 l ( I = 2.4 =
g : . 24y =2
~ 26
4.7
§L{ 14. The value of ¢ that satisfies the Mean Value Theorem when applied to
f(z) = 2z — Inz on the interval (1, €] is equal to
c elhe
(a) e—1 ,f{ ,‘.F (correct)
/ F(€)-50) ! /
e o2 1 ftg-asd
2 e-1\ ; x
e+1 { i £ e
&= L osbeRes Peas a- 2 777z
d 2e c " | {
(d) ——5  Ple):2e-Lfne =2€-)
2e -3 b
(e) 26—3 o P S e £(|)zl-,a-| . 303t
C |
2 -2
_'_‘__ =d -
@ =1
L 2lem) - (2e3)
e | = =
. e
I |
=) Z = e__(
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